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M7 T = % HEFRIBE B 5 iz IBBERT | 15~645% | 655821
% # 49,278 | 130,838 | 65,344 | 65 494 | 19,020 | 103,475 8, 343
m 2o 1 T H 719 2, 342 1,156 1,186 270 1,857 215
m o2 2 T H 70 207 108 104 24 146 317
m 2 3 T H 129 2, 208 1,055 1,153 141 1,926 141
m 2 4 T H 710 2,188 1,076 1,112 267 1,774 147
m 2 5 T H 1,802 5,702 2, 799 2,908 715 4, 734 253
B 2 6 T H 1,165 3, 551 1,739 1,812 405 2, 946 200
2 7 T H 516 1,666 822 844 100 1, 441 125
w2 8 T H 264 879 416 463 67 7517 55
e & ® B 1 T H 571 1, 344 675 669 196 969 179
it &8 @ B 2 T H 236 634 812 322 99 498 31
i E w8 B 3 T H 764 1,961 957 1,004 2817 1, 504 220
fi & W B 4 T H 469 1,151 578 573 162 875 114
fi & #w B 5 T H 1,084 2,848 1, 511 1,337 733 2,087 28
I 1 T H 452 1,209 610 599 281 899 29
7T #® 2 T H 1,669 4,759 2, 403 2, 356 1,227 3, 426 106
= W 1 T H 2,865 7,136 3,746 3,390 | 9717 5, 631 528
£ ® 2 T H 5,948 | 14,701 7, 343 7,358 2,274 | 11,375 1,052
# Vs 175 2138 81 132 3 202 8
= 1 T H 1, 730 3, 944 2,044 1, 900 510 3,076 358
= M 2 T H 4,594 | 10,899 5, 600 5,299 1,558 8, 650 691
= m s T H 3,082 7,987 3, 952 4,035 1,153 6,352 482
= W 4 T H 1,791 3, 843 2,010 1, 833 708 2,958 177
g5 =® 1 T H 1,831 5, 240 2,508 2,132 1,080 3,858 302
5 ® 2 T H 15 35 23 12 1 28 0
5= ErE 3 T H 874 2, 790 1,362 1,428 403 2,298 89
m k& 4 T E 1,637 5,178 2, 535 2, 643 707 4, 237 234
5 ® 5 T H 387 1,275 609 666 87 1,081 107
s =® 6 T H 348 1,129 551 578 70 986 73
& w 98 98 98 0 0 98 0
& H 1 T H X X X X X X X
& ®wm 2 T H 32 38 30 8 2 36 0
v v % 1 T H X X X X X X X
v v % 2 T H 21 31 19 12 0 30 1
# % ®m 1 T H 640 1,798 900 898 220 1,429 149




W3R WTEBIREL OB, AER(3 KD MAND — REX ()
i) T = % | HE BB B 5 L8 15BERT | 15~645% | 65800 L
B Ok Wm 2 T H 549 1,470 709 761 205 1,124 141
# O Mm 3 T H 111 2,213 1,039 1,174 2217 1,833 153
B Ok T H 214 633 322 311 129 456 48
W & B 6 T H 324 969 507 462 101 805 63
# ®» 1 T H 1,162 3, 244 1, 644 1, 600 452 2,616 176
B ® 2 T H 2, 636 7,304 3,585 3,719 1,068 5,708 528
B ® 3 T H 2, 145 5, 780 2,836 2, 944 787 4, 587 406
B B 4 T H 1,878 4,025 2,032 1,993 436 3,376 213
2 ® 5 T H 2,291 6,198 3,035 3,163 932 4,791 475
P 1 T H X X X X X X X
# @ 2 T H 7 8 5 3 0 7 1






